
:-

cftdrtmr tnr ir{:- urqq twrfl d qrq q-q-{gq o.-dt oi-f,rfd tr-dd

ff6r{ d 16og ffiv1 tg ortflFd (o.ooxs.oo-eo.oo

c.f fio srqfd o.oosoto (um e+rof il frffd, q.rm

q{ ffl{Fr) 1R or o-r (rfta"r) qEftqq rgso d
a-i-q tr Erffi flqT tg Bfrlrs!-s t{q-m ft{rq,

tdiq{ of e-sr+f{ irr rknq t

R-df, .rg irerFr rrr sfdd gsrtcq *qqr or srrtq-q,

cqrPrd ftqr oror t fu rtrrBo +gt rrnf d sn*r-cr{ R-qn q3 carit w sfuo

Eertrw fu dfu-d trflrPr aq fu,Tr.r o) srcer osr$ qfuftl

\-ffi)
sf,ft{Ir$ 3lf}rq.fir

qtk6 sngl
sa'rnilo-s t{ffi FErs

tflcrg

ON em \,llasc,\.1'I('kal0n lor (onnrudnin oflIMd Ptrupdoc

\6



ettffd qRfr-"r{r d ens-crs R-tr Rrrq} w sfuo gerrtuur iDI u'tiFDEFI

ord ot clq :-qqqE-tErrd{ d qrq elq{g{ 6-di oi-f,{-d trd-d ft-6R d m-qt ftqf"r tg utka (o.oox

oo-so.oo{.f fio serfd o.oosoto) urq wqrd t fttrd, qrrd rq f4{rlr) a1 qfr ol aq fq-rfror) qBfrqq. rsao
d aeq i-r qrfto1 o,rd fu serrers t{sf, frTc, t6ir6 of c-src-dc $ m'-6ssq qffiqqr era d
qrs-qrs ft6 rQrr+t w roo Edl or grrtwt
qqfuf +r d frofioqso ddYFI:- i1"'l;.'3>,t,,Eo\\'otl'ot.rro fflFd- 0.50 to

ord ar fu+t"r Eo,ri qEII {6r{ qr
(60)

ffi{rPr

I 3 5

120.00

7

1 sn G mqio'-{ coBo 0.50 60.00
2 et d qv,r$ (er.$ 6crr 3ilft) coto 0.50 1578.00 789.00

3 3rFJq fqrd E-q $RFr) coto en sofro Gitsd qoqoffo 42.00 316.00 13272.00
4 Fd-{ uvf od gft to soo rofro) or gqrr coqoffo 250 10.00 2500.00

5 giFJq Tfl 6rd (o.so x o.so x o.+s).raar qqn g0?196l 100 7.40 740.00

ftfferur qtrqr d-{Hr qoto 0.50 485.00 242.50
qlqt ol otrd (c'4q s{) qodlr 100 5.93 593.00

8 3rq arrr +i rir, €q-q srtqR A-q o-a{r,
elrdrrodrJqri .rqe d<-{r

qsf sd sq-6"r tg qoto 0.50 489.00 244.50

9 sd (q T<r s*erq ord :- vfr ter /do codo 0.50 9150.00 4515.00
qprFl q{sr 23016.00

1 rrcET q{q 6rd 0.3x0.30 x 0.4s c0 rtg6r 130.00

2 oq .nt n fi-o $Tri (vft to soo toffo) cocoffo 250 0.80 200.00
3 trtdffrd (RAqqtl coc)ET 100 105.00

4 0 qls 6-dr< ard s ftrffo Rrrls gan cotoq)Er 100 169.00 845.00

(ii)dq esn 6rd t*r O*rt 6T 1oo frrffo ora t 6on w) co*oqhr 100 16.00 1600.00

(iiD d-,T +Tf or qrrt t asrr s srrr{ cotoqlq 100 72.00 72.00

5 qlqtqrrr q pr16drf,A codlr 100 2.74 274.00

6 F-{r$ X€r{ q qfti.r (d ER) codq r00 3.00 300.00
qrq q EqT qt qq cododq 100 21.00 21.00

8 ts-to q rqrsrq tqq s{ t g qrt (or t an ro to w) coto 0.50 6183.00 2182.35

I s.r gr*)w ciil A orfrrld Ud qre, W qd qil{sftd q-{sf 6} 6er{
cfr Bo

qoto 0.50 367.00

10 s.z gten ft+ra7 *rqrs * Erfi a ffo at q-dA qrw 6Frr qoto 0.50 277 .00 t 3 8.50

11 s.s grtw q mqrfuo di qrd qrffit o) sTtr{ grqr ur.rsoar fu
cRreT"r den 3rFl E{en t erffiq 6Td tg qftddl 7efrfut o)
trerrc tflr

12 sI. cRrsTor d0s0 0.50 577 .00 288.50
'13 q. *errl a0q0 0.50 289.00 144.50

14 orq qq qr{n N, du gan t-S ffi, g-rff, d€r, srR o+ gwrtw
d scq ssl t ffii tE ffifr{ ffe oq, q{ it * fl-c ER sffi,
ff€ ffiftq, ord or rqn, rsn w i+qtlm srR ard

qoto 0.50 1327 .00 663.50

15 oqq erff i qrs kq q1 frqq gan wFr coto 0.s0 883.00 441.50

qtT-frfrq qtur 8189.35

31205.3s

6

7

ed +rr-(carq Vs fld-ftq w"r

o0
do

2

Ffiq sq
100 1.30

1.05

7

183.50



Tfrq
3 4 5 62

1

10 to 3flqR qr{sr)
!q{-< gelq tg-{<flq s 3l5{erut 12 qr6 (6rr 0.50 8244.00 4946.40

2 0.50qrs, trs vq
cft to
2.1 367.00 183.50

3 2.2 gftrT dr6t 4 qe.E grq orcr0 0.50 277 .00 138.50

cfuHor een 3rh g{en ti gt-ffiq 6rd tg qfudt //qfrfr{it
+frr6{ t{r

st8il gr.rcEdr

3{. 0.50 577 .00 28 8.50

4

g 0.50 289.00
qtul 5701.40

1

ro to onm qrr+q)
T{r-{glrl E 3l-l{Hur rz ara (oaiJc{r< 0.50 8244.00

qrs, qq \rs
cfr to
2.1 0.50 367 .00

2.2 EteiT dr6r 4 qFF F{II 138.50

cRreTvr nqr srfu S{en tt srii#q 6Td tg qfti?if /qftfr{it
m-Nr6{ trT

2.3 ETqr Br{r6-d-dl

3I

4

q 144.50

?wI
qqq

Et'T

5701.40

VIiltIT

slrd{r
1 570I.40
T{q

5701.40

Etssi

1 5701.40

71115.15

erq qq ro oz 7ttt.52
oa frq :- 78226.67

qr (so orq6m run me) 78000.00

E@aE
LL
q@@
u@@

ItfiittTil
L uE@
L q@@
L qE@

u@@
L LE@

E@

'\_...--

"gtl
z

I, H'". t
a!! aT' " 'al

llltt '.-'isnl
I(Itr.1 InG'

j!

=<E{

I
qoBo

qoBo

qoBo

qoBo

qoBo 144.50

?-gaf sS

4946.40

183.50

qoto

A!
oi

288. s0

fu'r Eq d sq-tlm Tdtq sq rs-{srd (etzmrgwn qrw ord) s701.40

rtqur sq d sr*r< qget eq {q-{qrE (Bcd6rgqT{ srw ard)

dcq sq d sqgrf, riqq st {s-Tqrs (gqilflTs'R srw ord) 5701.40

iNur sq A sqnrr E6r Eq rs-Tsrs (Bqr)ffiTJqT{ qrw ord)

tqq s{' d swrm qkisr qt sq-rsrq (sci-fiTTsr{ sqw or{)

ftq qq S $R]RT qrsqi sq l.s-{qrs FcdftEsT{ qqs ord) coBo

dq :-

o*
e

w,
TqU q-{ clirT

Tr {


